### Lots 1 - 10



**Lot #1: Charles X-Style Gilt-Bronze Mounted Figured Maple Bibliothèque** 7 ft. 5 1/2 in. x 5 ft. x 21 in. Estimate: \$ 4000.00 - \$ 6000.00



**Lot #2: George III Mahogany Bow-Front Chest of Drawers** 41 1/2 x 41 1/2 x 16 3/4 in. Estimate: \$ 500.00 - \$ 700.00



Lot #3: Set of Six Russian Neoclassical-Style Carved, Black-Painted and Parcel-Gilt Side Chairs 36 x 19 1/4 x 19 1/2 in. Estimate: \$ 1000.00 - \$ 2000.00



**Lot #4: Louis XVI-Style Gilt-Bronze Mounted Tulipwood Marble-Top Cabinet** 43 1/4 x 28 1/2 x 14 1/2 in. Estimate: \$ 800.00 - \$ 1200.00



Lot #5: George I-Style Figured Walnut Dressing Table 30 3/4 x 42 x 22 3/4 in. Estimate: \$ 700.00 - \$ 900.00



**Lot #6: Pair of Empire-Style Brass-Mounted Black Enamel Marble-Top Athéniennes** 40 1/4 x 13 1/4 x 13 1/4 in. Estimate: \$ 500.00 - \$ 800.00



**Lot #7: Pair of Italian Neoclassical-Style Carved, Painted and Parcel-Gilt Fauteuils** 36 x 20 x 17 in. Estimate: \$ 400.00 - \$ 600.00



**Lot #8: Northern European Oak and Pine Armoire** 7 ft. 4 in. x 5 ft. x 25 in. Estimate: \$ 1000.00 - \$ 2000.00



Lot #9: Set of Four Regency-Style Black-Painted, Decorated and Parcel-Gilt Caned Armchairs 33 1/2 x 20 x 23 in. Estimate: \$ 800.00 - \$ 1200.00



Lot #10: Louis XVI-Style Carved Giltwood and Painted Canvas Trumeau Mirror 55 1/4 x 18 in. Estimate: \$ 400.00 - \$ 600.00

Back

# Lots 11 - 20



**Lot #11: Italian Neoclassical-Style Inlaid Burr Thuya Center Table, Modern** 31 x 32 in. Estimate: \$ 2000.00 - \$ 4000.00



**Lot #12: Federal-Style Inlaid Mahogany Hanging Corner Cupboard** 44 1/2 x 30 x 17 in. Estimate: \$ 400.00 - \$ 600.00



**Lot #13: Louis XVI Tulipwood, Purplewood and Parquetry Bouillotte Table** 29 x 27 1/4 in. Estimate: \$ 500.00 - \$ 700.00



**Lot #14: Japanese Lacquer Tray on Later Ebonized Faux Bamboo Stand** 21 1/2 x 14 in. Estimate: \$ 100.00 - \$ 200.00



Lot #15: Pair of George III-Style Carved Beech Armchairs 36 x 21 x 18 in. Estimate: \$ 800.00 - \$ 1200.00



**Lot #16: Dutch Pine Hanging Cupboard** 31 1/2 x 30 x 8 5/8 in. Estimate: \$ 300.00 - \$ 600.00



**Lot #17: Continental Brass-Mounted Mahogany Eight-Pointed Star-Form Mirror** 32 1/2 x 32 1/2 in. Estimate: \$ 300.00 - \$ 500.00



Lot #17A: Louis XV Carved Oak Marble-Top Console Table 22 x 15 in. Estimate: \$ 800.00 - \$ 1200.00



**Lot #18: Regency-Style Mahogany Canterbury** 19 1/2 x 18 x 12 1/4 in. Estimate: \$ 150.00 - \$ 250.00



**Lot #19: George III Mahogany Games Table** 29 x 29 1/4 x 14 1/8 in. Estimate: \$ 75.00 - \$ 125.00



**Lot #20: French Provincial Walnut Poudreuse** 28 1/2 x 47 1/2 x 28 1/2 in. Estimate: \$ 600.00 - \$ 800.00

Back to Index

Back

### Lots 21 - 30



Lot #21: George III Pine Dresser Base 33 in. x 5 ft. x 20 1/4 in. Estimate: \$ 300.00 - \$ 400.00



Lot #22: Chinese Carved Rosewood Stand 36 x 12 1/2 x 12 1/2 in. Estimate: \$ 400.00 - \$ 600.00



**Lot #23: Black Leather Chesterfield Sofa** 29 in. x 5 ft. 9 in. x 3 ft. Estimate: \$ 400.00 - \$ 600.00



**Lot #24: Empire-Style Stained Pine and Parcel-Gilt Overmantel Mirror** 54 3/4 x 55 3/4 x 6 1/2 in. Estimate: \$ 1000.00 - \$ 2000.00



**Lot #25: Louis XV-Style Painted Side Table** Together with a Federal-style mahogany foot stool; largest 16 3/4 x 20 x 14 in. Estimate: \$ 75.00 - \$ 100.00



Lot #26: German Neo-Renaissance Carved Rosewood Bedstead 64 3/4 x 42 3/4 in. Estimate: \$ 200.00 - \$ 300.00



**Lot #27: Russian Neoclassical-Style Gilt-Metal Mounted Mahogany Extension Dining Table** With three leaves; 29 in. x 9 ft. 9 in. x 44 in. Estimate: \$ 500.00 - \$ 700.00



Lot #28: Set of Six Directoire-Style Carved and Painted Cane Side Chairs Estimate: \$ 400.00 - \$ 600.00



**Lot #28A: Continental Neoclassical-Style Mahogany Marble-Top Bureau A Cylindre** 44 1/4 x 44 x 22 1/2 in. Estimate: \$ 600.00 - \$ 800.00



Lot #29: Pair of Empire Mahogany Marble-Top Pot Cupboards 28  $1/4 \ge 1/2$  in. Estimate: \$ 400.00 - \$ 700.00



**Lot #30: Louis XV Provincial Carved Beech Fauteuil** 39 x 23 x 19 1/2 in. Estimate: \$ 400.00 - \$ 600.00

Back

## Lots 31 - 40



Lot #31: Two Napoleon III Parcel-Gilt Brass Bedsteads Larger 5 ft. 3 3/4 in. x 4 ft. 5 in. x 7 ft. 1/4 in. Estimate: \$ 350.00 - \$ 550.00



Lot #32: American Classical-Style Mahogany Dresser 52 3/4 x 32 x 17 3/4 in. Provenance: Ex Collection of Robertson and Mary Paige Alford, Norfolk, CT. Estimate: \$ 300.00 - \$ 400.00



**Lot #33: Italian Rococo-Style Carved, Painted, Decorated and Parcel-Gilt Three-Part Wall Mirror** 37 x 44 in. Estimate: \$ 400.00 - \$ 600.00



**Lot #34: Louis XV-Style Pine Buffet à Deux Corps** 7 ft. 7 in. x 4 ft. 4 in. x 19 1/2 in. Estimate: \$ 300.00 - \$ 600.00



Lot #35: Continental Walnut Marble-Top Pier Table 41 1/2 x 51 x 23 1/2 in. Estimate: \$ 1800.00 - \$ 2200.00



**Lot #36: Directoire Oak Table de Chevet** 27 x 19 x 13 in. Estimate: \$ 200.00 - \$ 400.00



**Lot #37: Edwardian Satinwood-Banded Mahogany and Marquetry Cabinet in the George III Style** 84 1/2 x 42 1/8 x 14 1/2 in. Estimate: \$ 1000.00 - \$ 1500.00



**Lot #38: Chippendale-Style Carved Mahogany Writing Desk** 30 in. x 5 ft. 5 in. x 33 in. Estimate: \$ 200.00 - \$ 400.00



**Lot #39: Charles II-Style Oak Refectory Table** 28 1/2 x 85 1/4 x 26 1/4 in. Estimate: \$ 800.00 - \$ 1200.00



Lot #40: Venetian Rococo-Style Carved, Painted and Parcel-Gilt Wall Mirror 31 x 15 1/2 in. Estimate: \$ 100.00 - \$ 200.00

Back

### Lots 41 - 50



Lot #41: Louis XVI-Style Carved and Cream-Painted Footstool 6 3/4 in., 15 3/4 in. diam. Estimate: \$ 50.00 - \$ 1000.00



**Lot #42: Continental Neoclassical Fruitwood and Burlwood Marble-Top Corner Table** 39 1/2 x 22 1/2 x 15 1/2 in. Estimate: \$ 700.00 - \$ 900.00



**Lot #42A: George III Inlaid Mahogany Miniature Chest of Drawers** 12 1/2 x 12 1/2 x 6 1/4 in. Estimate: \$ 200.00 - \$ 400.00



**Lot #43: Victorian Mahogany Coaching Table** 26 1/2 x 32 x 21 in. Estimate: \$ 100.00 - \$ 150.00



Lot #44: Louis XVI-Style Gilt-Metal Mounted Tulipwood, Marquetry and Ebonized Three-Tier Étagère 28 3/4 x 16 x 11 1/2 in. Estimate: \$ 200.00 - \$ 300.00



Lot #45: American Classical-Style Carved Mahogany Chest of Drawers 36 1/2 x 44 x 20 3/4 in. Provenance: Ex Collection of Robertson and Mary Paige Alford, Norfolk, CT. Estimate: \$ 300.00 - \$ 400.00



Lot #46: Indian-Style Carved Giltwood Wall Mirror 57 x 36 in. Estimate: \$ 200.00 - \$ 400.00



**Lot #47: Regency-Style Mahogany Three-Pedestal Dining Table** 29 1/2 in. x 6 ft. 6 in. x 46 1/2 in. Estimate: \$ 800.00 - \$ 1200.00



Lot #48: Victorian Inlaid Rosewood and Burlwood Music Cabinet 36 x 23 x 14 1/2 in. Estimate: \$ 200.00 - \$ 400.00



**Lot #49: George III-Style Mahogany Library Armchair** 39 x 21 x 18 1/2 in. Estimate: \$ 200.00 - \$ 400.00



**Lot #50: Victorian-Style Red-Painted Faux Bamboo Four-Tier Étagère** 47 1/4 x 29 1/4 x 14 in. Estimate: \$ 75.00 - \$ 125.00

Back

# Lots 51 - 60



**Lot #51: Pair of George III-Style Mahogany Armchairs** 38 1/4 x 20 x 18 in. Estimate: \$ 250.00 - \$ 300.00



**Lot #51A: Biedermeier Walnut and Ebonized and Parcel-Gilt Tester Bed** With later headboard; 7 ft. x 5 ft. 10 1/2 in. Estimate: \$ 2000.00 - \$ 4000.00



**Lot #52: Louis XVI-Style Carved Beech and Cane Tabouret** 16 1/4 x 20 x 14 in. Estimate: \$ 300.00 - \$ 500.00



**Lot #53: George III Mahogany Chest of Drawers** 44 x 20 1/4 x 41 1/2 in. Estimate: \$ 500.00 - \$ 700.00



**Lot #54: Louis XVI Mahogany Marble-Top Bouillotte Table** 28 1/2 x 26 in. Estimate: \$ 500.00 - \$ 700.00



Lot #55: Pair of Regency-Style Mahogany and Cane Footstools 10 1/2 x 15 3/4 x 9 3/4 in. Estimate: \$ 200.00 - \$ 300.00



**Lot #56: Biedermeier Gilt-Bronze Mounted Mahogany Wall Mirror** 28 1/2 x 16 in. Estimate: \$ 100.00 - \$ 200.00



Lot #57: Louis XVI-Style Tulipwood, Purplewood and Marquetry Bouillotte Table 29 1/4 x 21 3/4 x 16 1/4 in. Estimate: \$ 200.00 - \$ 400.00



Lot #58: Four Louis XV-Style Carved Beech and Cane Fauteuils 36 1/2 x 20 1/2 x 18 1/2 in. Estimate: \$ 800.00 - \$ 1500.00



Lot #59: Victorian Rosewood and Marquetry Music Cabinet 33 1/2 x 21 x 13 1/2 in. Estimate: \$ 300.00 - \$ 500.00



**Lot #60: Set of Eight George III-Style Carved Mahogany Dining Chairs** Comprising two armchairs and six side chairs; 38 x 25 1/2 in. Estimate: \$ 500.00 - \$ 1000.00

Back

Back to Index

Next

## Lots 61 - 70



**Lot #61: Louis XV-Style Wrought-Iron and Gilt-Metal Marble-Top Console Table** 32 x 37 1/2 x 19 1/4 in. Estimate: \$ 400.00 - \$ 800.00



Lot #62: Pair of Regency Ebonized and Parcel-Gilt Side Chairs Originally caned, now with slip seats; 31 1/2 x 18 1/4 x 20 1/2 in. Provenance: Ex Collection of Robertson and Mary Paige Alford, Norfolk, CT. Estimate: \$ 150.00 - \$ 300.00



**Lot #63: Louis XV-Style Fruitwood Side Table** 27 x 36 1/4 x 25 1/4 in. Estimate: \$ 200.00 - \$ 400.00



**Lot #64: Louis XVI-Style Carved Beech Canapé** 35 x 39 x 21 in. Estimate: \$ 400.00 - \$ 600.00



Lot #65: Pair of George III-Style Mahogany Stools, Arthur Brett & Sons Estimate: \$ 300.00 - \$ 600.00



**Lot #65A: George III Mahogany Four-Post Tester Bedstead** 7 ft. x 6 ft. 8 1/2 in. x 6 ft. 11 in. Estimate: \$ 1000.00 - \$ 1500.00



**Lot #66: French Provincial-Style Painted Marble-Top Two-Door Cabinet** 35 in. x 4 ft. 8 in. x 16 in. Estimate: \$ 1500.00 - \$ 2000.00



**Lot #67: Pair of Louis XV-Style Carved Beech Bergeres** 36 x 22 x 19 in. Estimate: \$ 600.00 - \$ 800.00



**Lot #68: Louis XVI-Style Blue and White Painted Bedstead** Together with a modern upholstered headboard; Louis XVI-style bed 48 1/2 x 85 x 42 1/4 in. Estimate: \$ 200.00 - \$ 300.00



**Lot #69: Louis XV Tulipwood and Marquetry Marble-Top Secretaire à Abattant** 50 1/8 x 39 1/2 x 16 1/2 in. Estimate: \$ 600.00 - \$ 1200.00



Lot #70: Pair of Louis XV-Style Carved Beech Fauteuils 37 x 22 x 19 in. Estimate: \$ 400.00 - \$ 600.00

Back

Back to Index

Next

#### Lots 71 - 80



**Lot #71: Rococo-Style Carved Giltwood Wall Mirror** 33 x 24 3/4 in. Estimate: \$ 40.00 - \$ 60.00



**Lot #71A: Pair of Louis XV/XVI Kingwood and Tulipwood Parquetry Marble Top Encoignures** 35 3/4 x 25 1/4 x 13 in. Estimate: \$ 2000.00 - \$ 3000.00



**Lot #72: Louis XIV-Style Carved Beech Fauteuil** 44 x 24 x 18 in. Estimate: \$ 800.00 - \$ 1200.00



Lot #73: Continental Neoclassical Mahogany Armoire 6 ft. 8 in. x 62 in. x 22 in. Estimate: \$ 1000.00 - \$ 1500.00



Lot #74: Italian Baroque-Style Carved Giltwood Frame with Later Mirror Plate 24 1/2 in. diam. Estimate: \$ 200.00 - \$ 400.00



**Lot #75: Louis XVI Mahogany Marble-Top Table de Chevet** 29 x 19 1/4 x 14 1/2 in. Estimate: \$ 400.00 - \$ 600.00



**Lot #76: Continental Painted Iron Bedstead** 65 1/2 x 55 in. Estimate: \$ 50.00 - \$ 75.00



**Lot #76A: T.H. Robsjohn-Gibbings for Widdicomb, Three-Door Credenza** 31 x 72 x 20 in. Estimate: \$ 400.00 - \$ 600.00



**Lot #77: Contemporary Upholstered Sofa** 30 in. x 7 ft. x 35 in. Estimate: \$ 150.00 - \$ 250.00



**Lot #78: European School: Landscape with Urn of Flowers and Peacock** Oil on canvas, signed illegibly lower right, framed; 33 1/2 x 44 1/4 in. Estimate: \$ 500.00 - \$ 800.00

Back to Index



Lot #79: After John Opie: "Timon of Athens" Watercolor on paper, signed and dated 1800 lower right, matted and framed. Together with another watercolor on paper, "Anthony and Cleopatra, Act Three," signed in border, matted and framed; 10 1/4 x 12 1/4 in. (sight). Estimate: \$ 300.00 - \$ 500.00



Lot #80: Manner of Jacques Callot: Burning Village Oil on canvas, unsigned, framed; 23 x 32 1/4 in. Estimate: \$ 1000.00 - \$ 2000.00

Back

### Lots 81 - 90



**Lot #81: After Giovanni Battista Piranesi: Piazza di Monte Cavallo** Etching and engraving on paper, matted and framed; 19 x 28 in. (plate). Estimate: \$ 200.00 - \$ 400.00



**Lot #82: Hugo Anton Fisher (American, 1854-1916): Landscape with Shepherd and Flock of Sheep** Watercolor on paper, signed lower left, matted and framed; 20 1/2 x 29 in. (sight). Estimate: \$ 800.00 - \$ 1200.00



Lot #83: Attributed to Charles Osgood (American, 1809-1890): Portrait of a Girl Oil on canvas, unsigned, framed; 48 x 36 1/4 in. Estimate: \$ 1000.00 - \$ 2000.00



Lot #84: After Karl Demel: Portraits of Friedrich III and Wilhelm I Etchings, signed and dated in plate lower right, matted and framed; 15 1/2 x 10 1/2 in. (sight). Estimate: \$ 100.00 - \$ 200.00



Lot #85: Circle of Léon Coignet (19th C.): Two Battle Scenes Oil on canvas, unsigned, framed; 27 x 38 1/2 in. Estimate: \$ 1000.00 - \$ 1500.00



Lot #85A: Manner of Rembrandt: Girl with Broom Oil on canvas, unsigned; 27 x 21 in. Estimate: \$ 800.00 - \$ 1200.00



Lot #86: Harold Hitchcock (British, b. 1914): Woburn Abbey Watercolor on paper, monogrammed and dated 1965 lower left, matted and framed; 16 1/4 x 29 in. (sight). Estimate: \$ 500.00 - \$ 700.00



Lot #87: William Meadows (fl. 1870-1895): Santa Maria della Salute from the Grand Canal, Venice Oil on canvas, signed lower right, framed; 20 x 30 in. Estimate: \$ 1000.00 - \$ 2000.00



**Lot #88: After Jean-Paul Cleren: "L'Enchanteresse" and "La Melancolie**" Color prints, matted and framed; 23 1/2 x 17 1/2 in. and 16 3/4 x 23 3/4 in. (sight). Estimate: \$ 300.00 - \$ 500.00



Lot #89: A.M. Stewart (19/20th C.): French Street Scene with Cathedral Oil on canvas, signed and dated '07(?) lower right, framed; 14 x 10 in. Estimate: \$ 600.00 - \$ 800.00



**Lot #90: After Giovanni Battista Piranesi: St. Peter's Basilica and the Basilica of S. Maria Maggiore** Each an etching and engraving on paper, unframed, one matted; 18 x 26 1/2 in. and 23 1/2 x 32 1/2 in. (sheet). Estimate: \$ 600.00 - \$ 800.00

Back

#### Lots 91 - 100



Lot #91: Hans Wilt (Austrian, 1867-1917): Village Scene, Monreale, Sicily Gouache on paper, signed, inscribed and dated '93 lower left, framed; 18 1/4 x 24 in. (sight). Estimate: \$ 600.00 - \$ 800.00



Lot #92: Emmanuel (Many) Michel Benner (French, 1873-1965): Still Life with Vase of Flowers Oil on canvas, signed lower left, framed; 35 x 30 1/2 in. Estimate: \$ 1000.00 - \$ 2000.00



**Lot #92A: After Jean-Jacques Caffiéri: Allegorical Figure of a River God** Painted terracotta; 22 1/2 in., 14 1/2 in. diam. Estimate: \$ 1000.00 - \$ 2000.00



Lot #93: English School (19th C.): Portrait of an Officer Pastel on vellum, framed; 10 7/8 x 8 7/8 in. Estimate: \$ 300.00 - \$ 500.00



**Lot #94: Continental School: Bacchus Reclining** Oil on cradled panel, unsigned, framed; 24 1/4 x 29 1/2 in. Estimate: \$ 700.00 - \$ 1000.00



Lot #95: M. Fabiani (20th C.): Santa Maria della Salute, Venice Oil on canvas, signed lower left, framed; 47 1/4 x 72 3/4 in. (sight). Estimate: \$ 800.00 - \$ 1200.00



Lot #96: English School (19th C.): Officers of the British Army, No. 15 and No. 38 Hand-colored lithographs, matted and framed; 13 3/4 x 11 in. (sight). Estimate: \$ 200.00 - \$ 300.00



**Lot #97: After Giovanni Battista Piranesi: Castel Sant' Angelo** Etching and engraving on paper, matted and framed; 15 1/2 x 25 1/2 in. (plate). Estimate: \$ 300.00 - \$ 500.00



Lot #98: Alois Lecoque (Czechoslovakian, 1891-1981): "Old Paris" Oil on canvas, signed lower right, titled on verso, framed. Estimate: \$ 400.00 - \$ 600.00



**Lot #99: J. Martin: Roman Forum** Watercolor on paper, signed lower right, matted and framed; 18 1/2 x 27 1/4 in. Estimate: \$ 800.00 - \$ 1200.00



Lot #100: French School (19th C.): Portrait of an Officer Oil on canvas, unsigned, framed; 25 x 20 in. Estimate: \$ 800.00 - \$ 1200.00

Back